DI	COTO	DADICIT
DE	SOTO	PARISH

PLANT ENTERPRISES PRODUCTION

Crop	Number of Producers	Acres	Yield per Acre		Total Production	Units of Measure	Gross Farm Value
COTTON	Troducers	710103	Acic		Troduction	Wicasuic	v aruc
Lint - Non-irrigated (Total)		706.0	987.00		696,822	1he	\$335,589
Seed - Non-irrigated (Total)		706.0	1,579.00		1,114,774		\$53,732
Cotton (Total)	*	706.0	1,577.00		1,114,774	103.	\$389,322
FORESTRY		700.0					ψ307,322
Pulpwood							
Pine					152,562	cords	
Hardwood					66,888		
Pulpwood (Total)					219,450		
Chip & Saw (Total)						cords	
Saw Timber					,		
Pine					47,655,103	board feet	
Hardwood						board feet	
Saw Timber (Total)					49,424,296		
Total Pulpwood, Chip & Saw,							\$43,368,651
Saw Timber FOB Mill							
Total Forestry Stumpage							\$23,013,678
(Total)							
Christmas Trees (Total)	*				140	trees	\$5,600
Forestry (Total)							\$43,374,251
FRUITS							
Blackberries (Total)	*	1.0	750.00		750	pints	\$1,313
Blueberries (Total)	*	147.0	3,154.00		463,638	lbs.	\$904,094
Peaches (Total)	*	4.0	50.00		200	bu.	\$8,000
Fruits (Total)		152.0					\$913,407
FEED GRAINS							
Corn (Total)	*	204.0	90.00		18,360	bu.	\$48,654
Feed Grains (Total)		204.0					\$48,654
GREENHOUSE VEGETABLES							
Tomatoes (Total)	*	2,880.0	4.30 Y	rield / sq. ft.	12,384	lbs.	\$16,718
Greenhouse Vegetables (Total)		2,880.0					\$16,718
DE SOTO PARISH							

105

DE	SO	TO	PA	RI	SF	
----	----	----	----	----	----	--

PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
HAY FOR SALE						
Grass (Total)	60	4,500.0	2.30	10,350	tons	\$956,340
Hay for Sale (Total)		4,500.0				\$956,340
Home Gardens (Total)	600					\$120,000
NURSERY CROPS						
Floraculture & Bedding	*				acre	\$30,000
Plants (Total)						
Woody Ornamentals (Total)	*				acre	\$30,000
Foliage Plants (Total)	*				acre	\$12,000
Nursery Crops (Total)						\$72,000
PECANS						
Improved (Total)	*	8.8	570.00	5,016	lbs.	\$6,521
Pecans (Total)		8.8				\$6,521
Soybeans (Total)	*	1,020.0	31.00	31,620	bu.	\$185,167
VEGETABLES						
Southern Peas (Fresh) (Total)	*	3.0	90.00	270	bu. (24 lbs.)	\$6,750
Vegetables (Total)		3.0				\$6,750
TOTAL ALL PLANT ENTERPRIS	ES					\$46,089,129

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION Number of Units of Total Units of Gross Farm Fisheries Production Value Producers Production Measure FRESHWATER FISHERIES 10,878 lbs. Freshwater Finfish (Total) \$13,171 Freshwater Fisheries (Total) \$13,171 **HUNTING LEASES** All Other Game (Total) 16 311,200 No. Acres \$2,178,400 acre Leased Hunting Leases (Total) \$2,178,400 Honey (Total) 35 No. Hives 3,500 lbs. \$3,150 6

107

DE SOTO PARISH

** The marine, freshwater and oyster data presented here are for the year 2005 rather than 2006. Release of fisheries landings data by the collecting agencies occurs 4-5 months after the fact. Another reporting system was used in previous years, so this year's data are not directly comparable to that of previous years.

ANIMAL ENTERPRISES PRODUCTION

	Number of	Units of	Total	Units of	Gross Farm
Animal	Producers	Production	Production	Measure	Value
CATTLE & CALVES					
Steer Calves					
300-400 lbs.			1,540	head	\$765,542
400-500 lbs.			1,725	head	\$962,162
500-600 lbs.			1,972	head	\$1,207,268
600-700 lbs.			924	head	\$635,135
Steer Calves (Total)					\$3,570,106
Heifer Calves					
300-400 lbs.			1,291	head	\$569,918
400-500 lbs.			1,446	head	\$754,487
500-600 lbs.			1,653	head	\$955,608
600-700 lbs.			775	head	\$516,243
Heifer Calves (Total)					\$2,796,256
Yearling Cattle					
600-700 lbs.			870	head	\$565,217
700-800 lbs.			870	head	\$619,549
Yearling Cattle (Total)					\$1,184,766
Cow-Calf Pairs (Total)			1,450	pair	\$1,377,805
Cull Cows (Total)			1,450	head	\$548,463
Cull Bulls (Total)			200	head	\$169,110
Cattle & Calves (Total)	200	14,500 No. Cows			\$9,646,505
DAIRY					
Dairy Cows					
Milk	16	3,091 No. Adult Cows	49,057,522	pounds	\$7,191,833
Bred Heifers			116	head	\$201,260
Adult Cows			94	head	\$131,600
Cull Cows			804	head	\$452,250
Bull Calves			1,390	head	\$69,500

DE SOTO PARISH

ANIMAL ENTERPRISES PRODUCTION

	Number of	Units of		Total	Units of	Gross Farm
Animal	Producers	Production		Production	Measure	Value
DAIRY						
Breeding Age Bulls				9	head	\$9,900
Dairy Cows (Total)						\$8,056,343
Dairy (Total)						\$8,056,343
HORSES						
Brood Mares						
Race Horses	*	40 N	lo. Brood Mares	5	head	\$40,000
Show Horses	10	65 N	lo. Brood Mares	35	head	\$140,000
Recreation Horses	10	60 N	lo. Brood Mares	55	head	\$82,500
Brood Mares (Total)						\$262,500
Stud Fees						
Race Horses	*	4 N	lo. Stallions	12	mares bred	\$30,000
Show Horses		6 N	lo. Stallions	24	mares bred	\$36,000
Recreation Horses		6 N	lo. Stallions	25	mares bred	\$12,500
Stud Fees (Total)						\$78,500
Race Horses (Total)	*			8	head	\$96,000
Show Horses (Total)	75			250	head	\$1,250,000
Recreation Horses (Total)	215			440	head	\$660,000
Horses (Total)						\$2,347,000
POULTRY						
Breeder Flocks (Total)	7	276,000 N	Io. Birds	4,709,250	doz. hatching eggs sold	\$8,712,113
Poultry (Total)					0555 5014	\$8,712,113
GOATS						, -, -, -
Show Goats (Total)				6	head	\$1,500
Slaughter Goats (Total)					head	\$18,750
Stocker Goats (Total)					head	\$2,375
Cull Goats (Total)					head	\$520
Goats (Total) SWINE	10	200 N	Io. Does			\$23,145

SWINE				
Show Pigs (Total)			3 head	\$840
Feeder Pigs (Total)			216 head	\$6,480
Slaughter Hogs (Total)			5 head	\$601
Culls (Total)			2 head	\$320
Swine (Total)	*	12 No. Sows		\$8,241
EXOTIC ANIMALS				
Deer/Antelope (Total)	*	45 No. Animals	10 head	\$1,300
Exotic Animals (Total)				\$1,300
TOTAL ALL ANIMAL ENTERPRISE	S			\$28,794,646

DE SOTO PARISH \$77,078,496 109